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Ofley - ‘A’ : QLML

1.  peflus Qunuyw ureb-Csearamer podw @Gaflfler Bmb GriLm 6 euflsefley LweTmy
cupLd “Clomener” L midlwerer GlarhaeT erencu ?

() pailug - podw (2) urgud - BHwHD
(3) Qumplud - Gaeflfler (4) Qgerener - BH(mHDd

ECp Gar@ssiu(erer s6il usHow UgsEH Colslill(herer cNamEsEnHdd,
cilenl GT(LP&Is.

Qeuemefls Lieflweneuller W 2 omeyGeumd - g
Cuened s Wb siue 6SHGCeumD.
snms BHILDSE Camgienols LTl LD

sredlfl Cleupdlenewd@ wrm CsmererGeurd

fmg Tl qursd selleng Glamea(h

Carsas sposmser UflgaflliCumd

- urgSlwmt

2. osen g 2 ereGeumd erar s68eHT mmdor ?
(1) Cuweeds s (2) smms B

(3) arellfla seniy (4) Qeudrellls Ueilbeney

3. smms BIHUUDSSHO lleneTud LeRTL D 6Tg ?
(1) sHELD (2) Geumdlenev (3) Cargienwo 4) Ombe

4. wrrlgwiseier sellamsdE uflars aanss HmGaurd oram SHeNepm FamdprT ?
(1) Cargienwo (2) Geumdlenev (3) sbHswL (4) slue
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10.

11.

eThI@ sl eSl(HGaurd erem umyHwint dmmdlprr ?
(1) Qeuerefls Leflbene (2) Cuwemes sLe

3) sm®s B 4) Cayr mrl

“shase|b” reid Cardalmer Nfgg erpg HeL g :
(1) spal + 25eb (2) spBa + s6UD
(3) &+ 256D (4) 8HS *+ 256 b

ECL 2 dterauped ergl “gadl L Came” ojee?
(1) wWler YFaD (2) U4 We(mHD
(3) &MEL ST 4) W gnabd

Yeteupd Campaener Gum@mer LHbUG @b wrhbl CFTHEnTLT MLESELD.
L9/ Qg i/ (wpeneruNGev/clllenemuLd

A B C D
(1) DACB (2) CBAD (3) BCAD (4) BADC

STLCLITLD/ OIS 6T/ QUMD 69 & 6o W &/ GUETT & &)
A B C D
(1) CDBA (2) BACD (3) BCDA (4) BDCA

gflwurer edlenenwgd GCHiHos(H
Bren Slmelpreln@ osmmaE GlaanGaousr.
() Qe (2) mrener 3) Crpo (4) Cpogien

Camgl L @Lgde aflurner uearryl Guweny GQarem® Hirluys.

@ndwreler s BS Ay YysSm.
(1) 2wihs (2) fHplw (3) Hewr (4) oy pwrer
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12.

13.

14.

15.

16.

17.

18.

19.

EpsarLcupdled 6Tg “Lieor Limed” ?

(1) wrewrel (2) LomEmTEUGH (3) LomeRTT&&ST (4) wr@Hser

ECLp 2 6Tem UGS “eThs sTevsamss” GNsSHng ?  “Brer Ligsg GararBHierGerer”
(1) bHspareLd (2) erdlismeuld (3) eaummstL (4) @nhe ST

gflwrer elenang Gareere HrliLs
a6 Cpom ae &l lgHE
(1) eumsmen (2) eumeumET (3) eumSlpren 4) Gurdlprer

Camgl L @ g &Hs Oered GQareawr@d Hirls.
BreT Carmid Cguwudssmer UPEsD QHEs Ceuemr(HLbd.
(1) uiggsne (2) UgEELD 3) uggssTed (4 UESHE

Cur®BeTs @aramnd CaMbes®H
(1) Qsvell - Guemrme (2) Geceuer - oy eTLITE

(3) w&seT - Leweler LTy 4) us - RETHETLITG

“Comhpd” eretn Camaeler erdli LS erg ?
(1) wenpay (2) Hlevmey ) ®ope (4) 2wire

“GLOreT BHei@ LTLLD Ligliurer” eTemn eurdssugSsled “er(peumls” ereimig) ergl ?

(1) wm_wb (2) @wre (3) BeG (4) uglumer

Camgl L QL g Qummpbsrs Cared erg ?
BIEQILD 2 6WT6Y 2 6HTENIOILOM ?

(1) smsGearm® (2) omsCetr@h (3) o eaGem® 4)  erenGerrm(p
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20.

21.

22.

23.

24.

25.

Epsameupled pen sWMfléEs 2 Heabd
“HIO-TATLMSS GNS@GL Glame org ?

() Qea (2) Qaemar 3) Qe 4) Qaven

gflwrer ellemdbereene @ H By,
Apmewtir Gamralley 2 GTemg ?

(1) e (2) eriten (3) e 4 as

“aasdlar eraugen Fflwren sLOPE Glamed erg ?

(1) wWseuemrig (2) yenseuary (3) eureidl (4) Werenis

Cumrmssoner Cardadlema Camgl L QL seng Hrlis.

NGO LrEUGsme SLHUUOSSHSH jeudlwubd Qg Qupmss
gwhlencverw wrHdl Ledlenw GleuliLiowinng@dHng.

(1) glarefe (2) wHHID (3) g (4) Y emswme

gflwuner Gareord Camgl L @ g HIrliys

Qrej (ppeugid weplp Qe Uateilag eSHwpan

(1) Quussma (2) Quuwisre (3) Quuigg (4) Quuiuyb

“Brent O LMD LigsCHer” eremn GlemmGpriifley erg “Lweiana ?

(1) mre (2) sl (3) wr_w 4) usCaem
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26.

27.

28.

29.

30.

31.

32.

SECTION - ‘B’ : MATHEMATICS

Which one of the following are arranged in descending order ?

2 02 2 2 2 6 14 10 4 2
O 357 3 9 3 @ T
7 7 7 7 7 10 13 5 15 7
R R A ERT @ 3 959 979

Which of the following numerals are arranged in ascending order ?
(1) 6821, 6812, 6261, 2861 (2) 9075, 7905, 9701, 5907
(3) 10529, 12049, 12509, 15249 (4) 23124, 23213, 21467, 2764

What would be the price of seven chairs, if the price of one chair is I 7642.45 ?
(1) T 53497.35 (2) T 53497.15 (3) T 53499.15 (4) T 53597.15

Fill in the blank with the correct option.
CCCXC + LIX = .
(1) CCCCXLIX  (2) CDXLIX (3) CDCXLIX (4) CDXXXXIX

A dealer purchased 50 tables for ¥ 4570 each. Nine tables got damaged in transit. He sold the
remaining tables for ¥ 5000 each. Choose the most appropriate statement for this case ?

(1) He was able to recover the cost of the damaged tables.
(2) He made a profit of ¥ 25000.

(3) He incurred a loss of ¥ 23500.

(4) He made a profit of ¥ 23500.

Which one of the following options is incorrect ?

(1) %=0.4 (2) 1.147 > 1.039 (3) 5862 <59 (4) 321> 3222

[ am a five-digit even number. I have 9 at my tens place. The digit at the ten thousands place
is three less than the digit at the tens place. The digit at the hundreds place is half the value
of the digit at the ten thousand place. The digit at the thousand place is double the digit at the
ones place. Who am 1 ?

(1) 68494 (2) 61392 (3) 64391 (4) 68394
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26.

27.

28.

29.

30.

31.

32.

9fley - ‘B’ : SevoNGeIluleL

Heeumeuamaupiled @@ auflensuiled enobgieTer Llemeamhiser 6ra)?

2 02 2 2 2 6 14 10 4 2
O35 7 13 7 3 S TURTRR TR TR Y]
7 7 7 7 7 10 13 5 15 7
S N A EN @ 5 9 9 93

Yermeuqpd erewr Garirsefley erm cuflensufey erpslin (Heter Csrii erg ?
(1) 6821, 6812, 6261, 2861 (2) 9075, 7905, 9701, 5907
(3) 10529, 12049, 12509, 15249 (4) 23124, 23213, 21467, 2764

@@ prnsrelluiler allene em. 7642.45 erafled, erp BrosTadlsaten cllene eremer ?
(1) o 53497.35 (2) ¢ 53497.15 (3) em. 53499.15 (4) em. 53597.15

gflwrer Camey eped Camgl L QL sas Hirlie|b.
CCCXC + LIX = .
(1) CCCCXLIX (2) CDXLIX (3) CDCXLIX  (4) CDXXXXIX

e alanllai 50 Gamasamer ¢ Genag ¢m. 4570 eremm allaeuiled UGS . e
9 Cuengser LWsLbgNHADG. WBsupdrar Goengsamer eearm ¢5.5000 eremm
cllenevd@ elnsSprt. @bHlamauie Wseaw sflwrer mpeps CosrmbshHédseyn ?
(1) uwsaLbs CoamsseEpsstar Cgrasemwls CuDHDTT.

(2) em. 25000 Qeomid FFLIg G

(3) ¢em. 23500 BOYL LD BiGNL_HS.

(4) em. 23500 Qeomuid FFLIg G

Qaunler ergl Heupeng) ?
2

(1) ==04 (2) 1.147 > 1.039 (3) 5.862<59 (4) 321 >3.222

BT6T (H Wb Qeds Qrlenl Ll 6. eTagl LSdHler QL il 9 2 6rerg.
LSSTWTD L LHUINGQL 2 der Qadsd LsHer QL IO 2 6mer QadasHams el
APETM (GEODeUTS 2 6Tengl. EIMler QL be 2 6Ter Qessnd LSSTUTD G
S 2_6Ter QavsesSler LUTSHuwim@b. < ufrnd @ b 2 6rer Q&b eeimmlen
QL wHIN® 2o QssSms ML Qe WLWLRSTGW. TRNQ BTG
w2

(1) 68494 2) 61392 (3) 64391 4) 68394
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33.

34.

3S.

36.

37.

38.

39.

40.

Which one of the following is the incorrect option ?

< 1 »
< >

Area=240 sq.cm b

(1) 1=19.2 cm, b=12.5 cm (2) 1=16 cm, b=15 cm
(3) 1=54 cm, b=5 cm (4) 1=32 cm, b=7.5 cm

What is the side of a cube, if its volume i1s 64 cu.cm ?

(1) 12 cm (2) 4cm (3) 8cm (4) 16 cm

Seventy six lakh four thousand eighty three is written as in the international number
system.

(1) 7,640,083 (2) 76,483 (3) 760,483 (4) 7,604,083

Rounding off 7348561 to the nearest hundreds is .
(1) 7348000 (2) 7348600 (3) 7348560 (4) 7348500

What must be added to 2.4624 to get 6.785 ?
(1) 4.321 (2) 4.3221 (3) 4.3226 (4) 4.3229

What would be the water image of | SEARCH > ?

(D SEABCH> (2) 2EVBCH> (3) Q:mvas 4) Houvas>

Choose the smallest possible 7-digit number that you can form using each of the following
digits 5, 1, 8, 0, 3.

(1) 1310058 (2) 1001358 (3) 1130058 (4) 1000358

The product of the LCM and HCF of two numbers is 322. If one of the numbers is 23, what
is the other ?

(1 7 (2) 14 (3) 18 4) 46
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33.

34.

3s.

36.

37.

38.

39.

40.

Wemeu(mHouamaupdled eTg SHoupmen LiGled ?

& 1 3
< >

LTLIL =240 sq.cm b

(1) 1=19.2 cm, b=12.5 cm (2) 1=16 cm, b=15 cm
(3) 1=54 cm, b=5 cm (4) 1=32 cm, b=7.5 cm

R ST FEHTSH s etey 64 saral erafle, FeT LSS eTe| erere ?
(1) 12 Q&S 2) 4 Qa8 (3) 8 Qa8 4) 16 Qa8

T(PUSS UM OL&SZ Bren@ o ulTsg eTamlsSg epemm o ang &TeuCses eremr
SjenoLlIle & eT(PSLILHSMG).
(1) 7,640,083 (2) 76,483 (3) 760,483 (4) 7,604,083

7348561 eraiim eTETENENT Bi(H&led 2 Tem HIMI 2L 6 (P(PEWTSES e Henl g

(1) 734800 (2) 7348600 (3) 7348560 (4) 7348500

24624 & 6.785 a1 CQup eTenssd Fal L. Couawr(Hid ?
(1) 4.321 (2) 4.3221 (3) 4.3226 (4) 4.3229

SEARCH » gairafii (9ibLib areirar 7

(1) | SEAECH > (2 | 2EVHCH > ) <HDHVEIS‘ (4) | Houvas

WNereumd 5, 1, 8, 0, 3 eTarin Qevdsmaaer LweaTLhds 2 (heaurssliu(Hd rsdwiome
WaFfHlwu T-Qeés cramanansd Caihols(HEsaL0.
(1) 1310058 (2) 1001358 (3) 1130058 (4) 1000358

Qe erenwaatiesr LCM wpmid HCF @eir Qums@ssmens 322. oifled em erewr 23
crafler, MG erewr eremen ?
(1) 7 2) 14 (3) 18 4) 46
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41.

42.

43.

44.

45.

46.

47.

48.

49.

1 2 @ 2 3 2 @ 2

Anil had 78.6 m fabric which was just enough to make one set of uniform for 12 students.
How much fabric would be used to make one uniform ?

(1) 6.05m (2) 6.65m (3) 6.55m 4) 6.25m

The area of a triangle whose base is 12 cm and the height twice the base, is
(1) 288 sq. cm (2) 144 sq.cm  (3) 289 sq. cm (4) 298 sq.cm

An oil tank can hold 60 litres of oil. Another oil tank can hold thrice as much. What is the
total capacity of both the tanks ?

(1) 180 litres (2) 240 litres (3) 120 litres (4) 300 litres

128400 pens are to be packed in cartons with 150 pens in each. How many cartons will be
needed ?

(1) 856 (2) 805 (3) 846 4) 876

Which one of the following figures is not symmetrical along the dotted line ?

(1) A (2) (3) N (4)

o

0

In a particular year, 76,43,872 students appeared for an exam. Out of them if 42,37,602 were
girls, how many were boys ?

(1) 43,06,270 (2) 34,56,270 (3) 34,06,270 (4) 43,05,370

What should be subtracted from 3 million to get 1765498 ?
(1) 1,234,602 (2) 1,234,502 (3) 1,324,502 (4) 1,234,402

If the classes for the senior students start everyday at 8:35 a.m. and end at 1:45 p.m. (with no
breaks), find the total duration of the classes.

(1) 4 hours 40 minutes (2) 310 minutes
(3) 5 hours 20 minutes (4) 315 minutes
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41.

42.

43.

44.

45.

46.

47.

48.

49.

oo
.|
| w
X
|~

Eés

oo w

3 5 2
M 3 (2) Q) 3 4 3
ojafled 78.6 L5 gianflenw 12 orewreuras@bé@ Fmen SWIMlLSHSTS eUSSHIETETTI.
@@ FmeoL swrfliugn@ erelcuerey glanl LweUBSSILHL ?
(1) 6.05 18 2) 66518 (3) 655 18 4) 62518

Q@ (Boés@asnm5§1m g LiLgsb 12 Qe whmibd &gﬁiﬂ 2 WILD qLILIGSHSMS Gl
G LLmEG 2derg erefle, (pECaramddlen Ll
(1) 288 ggpCal (2) 144 &grQeslb(3) 289 sgrlsls (4) 298 EENRALE)

@ erarGlent CLmig 60 el L erenrClamenwid Glarer(hererg). LHGD( 6revrGlewTi
CLmis @CxCLT epeitm oL K@ CareTerare| GameanT(haTergy. crartled @rer(h CL sl
Qrgs Osrdrerere] eremer ?

(1) 180 &\ Liiser (2) 240 &S\ st

(3) 120 &S\ Liiser 4) 300 &\ Liiser

128400 Cuenmsser Guliguiley hssliLBdemper, gelbleumm Guliguiad 150

CURTTESET 2 aTeTar. eTalled jeunenn 2ih&s TEsenar U lqaar Caeneu ?
(1) 856 (2) 805 (3) 846 (4) 876

Yereupd uLmselle sl UL Camgl L eflsefler apwrs gwsfrnm
srenrliLBSma ?

(1) A 2) (3) N 4)

o

0

@ GPULL oy airiq 6, 76,43,872 orewreurger Cairey er(pgidmmiaer. Qe 42,37,602
Gur wreelseT, eTearildy ranraliaeflen ereanTanHans cremes?
(1) 43,06270  (2) 3456270  (3) 3406270  (4) 43,05.370

3 BlovaSlwetled @Qmbg 1765498 et Qup s0l&Es Gouamiqul eramm org ?
(1) 1234602  (2) 1234502  (3) 1324502  (4) 1.234.402

(PSS LOTETEUTSHERSHT UGLILEET srened 8:35 wenflé@ Ogrmdl wHubd 1:45
waflé@ (Wigaiamdng @ Celem @eame). erafley, au@liLser parlCunm Clwrss
Crrsamnss samLPleLd.

(1) 4 weaflCryw 40 A mser (2) 310 HOlmiser

(3) 5 weaflCryw 20 Al mser (4) 315 HOLmiser
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50.

51.

52.

53.

54.

5S.

56.

Raman started a journey 4 hours before Sameer. If Sameer started his journey at 2:15 p.m. at
what time did Raman start his journey ?

(1) 09:15 hours (2) 11:15 hours (3) 10:15 hours (4) 14:15 hours

If A+ A + ‘ = 420 and ‘-A:90, then what is the value of ‘?

(1) 100 (2) 200 (3) 90 4) 120

Identify the greatest fraction from the following :

2.2 2 22
1’ 77 137 97 3

2 2 2 2
) = @ 3 3 = @ 3

Select the next figure in the pattern :

A<V _
(1) <]:] (2) v 3) D>> (4) é

Select values of m, n to make the statement true.
127x15=(C_m x15+(_n_x15)

(1) m=100,n=15 2) m=120,n=15
(3) m=15n=27 (4) m =100, n =27

Sum of place values of the underlined digits in the given numbers is
695281 5348573
(1) 305071 (2) 300551 (3) 305017 (4) 3005071

What is the weight of two dozen biscuits if each biscuit weighs 4 g ?
(1) 24¢ (2) 64¢ (3) 48¢g (4) 96 ¢
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50.

S1.

52.

53.

54.

5S.

56.

e, 81 QSMmi@Geusn@ 4 wenfl GBI (PATTHNS LT Sansd Cammided L.
gl sarg Lwadens wHwWD 2:15 QsTLmNmMbBSTO, FILET LWaTSamss
CarmdwCurg Corwb ererer ?

(1) 09:15 weaflCrrwD (2) 11:15 wewCryL

(3) 10:15 weafCrrwD 4) 14:15 waflCrrwb

A+ A + ‘ =420LDﬁ)@JLb‘—A=9OGrGUﬂGb,‘@66T S ereier ?
(1) 100 2) 200 (3) 90 4) 120

Wemeumeuamaupiled WsLCUdWw YeTansenssd SertmHie|bd :

2 2 2 2 2

"7 13793

M @ 3 3) = 4 2

8bs cugamsad HSSETE UL LLSnss Camhblshdsalb :

A<V _
(1) <]:] 2) V 3) D>> 4) é

FoHEND 2 @TENLWITES m, n LSS CHTHOS[HSH6LD.
127x15=(_m__ x15) + (_n__ x 15)

(I) m=100,n=15 (2) m=120,n=15

(3) m=15n=27 (4) m =100, n =27

Carhssiiul L aanseie Camgl L eramseie QL wdiysealler @l (Hhsbgrens
695281 5348573
(1) 305071 (2) 300551 (3) 305017 4) 3005071

gaCleur(m MevaL (Hbd 4 Slymd erenl Claream(heTerg) erefley, Qrenm(h Lger Nevs serfler
GTeNL_ GTEoTeo ?

(1) 24 & (2) 64 & (3) 48 & 4) 96 &
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57. How many parts of the given figure should be shaded to represent % ?
(1) 4 (2) 12 3) 8 4) 6

58. What is the fraction that the sum of the shaded regions represent ?
P A

L B
10 1 1
O @ 7 (3) 1 4) 13

59. 1In 563672, the place value of 6 at the ten thousands place is times the place value of
6 at the hundreds place.

(1) 1000 (2) 100 3) 10 (4) 10000

60. Choose a figure that will continue the series in the given figure.

) 5 l 0|0 l o @,
\ ola 69 olo |
6 O il o)
(1) (2) (3) (4)
o ¥ g ¢ e,

61. Shreya has 32 red pens and 56 blue pens. She wants to make packs of equal number of pens
out of them in such a way that each pack has pens of only one colour. How many pens would
be there in the biggest pack ?

(1) 4 (2) 8 3) 16 4) 12

62. 1If the cost of fencing 1 m is ¥ 215, then find the cost of fencing a park with length
45 m and breadth 23 m.

(1) T 29240 (2) T 25340 (3) T 29440 (4) T 29540
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57.

58.

59.

60.

61.

62.

RAMA/TAM+ENG

Car@sasiul(herer LGSl %gu Cup ergsemen uTsmiser Hlpedl Ll

Couawr(hd ?

DIIIIIIIIIIII

(1) 4 2) 12

3) 8 4) 6

Bpelliul L ursmiseter gl (Hs6gransulen Werer WL eremer ?

L B
) 15 @ T 3 1 “4) 1

563672 @, uszsmuilyn QL e o 6rer 6 @ett SlliLmeng HIDTeUg QL S0
2 6TeT 6 @6 e 6l LOL_MBISMGLD.
(1) 1000 (2) 100 3) 10 (4) 10000

Carhssiiul_(Herer UL eaflengenwg CsmmL ULSmss CaibllsHdsa|b.

o Q| 010 e 9
, ?
V' ola elg 0lo |
6 O | o °c 9 o
(D o ) (2) o o (3)l o 4) o o

avGruredLd 32 fsliy By Cuemsser wHmd 56 Beo By Cuemeser o eTerer.
Sjaunenm &L ereanrantisansuiloner Cuemaser 2 erereurm GLs Glawlidnmer, geubleum(m
Cusdlad @Cr Hinsderer Cuamsser L HGW 2 eerer. eretled Gl GluLiquiled
craleuene CUaTTSS6ET QHHEGWL ?
(1) 4 2) 8 (3) 16 4) 12
1 8 Couall yamnés em. 215 Ceaveurdlmgy erefled, 45 L5 Bemipd 23 1 oisepd Csmer
Lisrellns@ Cousll oennss oremar GlFueum@Lb.

(1) em. 29240 (2) em. 25340 (3) em. 29440 (4) em. 29540
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63.

64.

65.

66.

67.

68.

69.

70.

Convert the fraction 15%5 into a decimal number.

(1) 150.4 (2) 15.04 (3) 1504 4) 1.504

How many acute angles are there inside the given figure ?

X

(1) 4 (2) 6 3) 5 4) 7

Prisha weighs 42 kg and Kyra weighs 39.5 kg. What is their total weight ?
(1) 82500 g (2) 8250 ¢ (3) 81500 g (4) 8150 g

A webinar has three intervals of 5 minutes each. What is the total duration of the intervals in
seconds ?

(1) 1000 (2) 800 (3) 900 4) 1500

Which one of the following is not an equivalent fraction of % ?

n 2 @ = 3 = @ 1

An athlete finishes 400 m race in 48 seconds. How many minutes has he spent in running if
he ran five times on the same track at the same speed ?

(1) 4 (2) 3.5 3) 5 4) 6

Find the area of the shaded part of the figure.

9cm

(1) 161 sq. cm (2) 171 sq. cm (3) 173 sq. cm (4) 163 sq. cm

Identify the angle created by the minute hand and the hour hand at 2:30 p.m.
(1) Acute (2) Obtuse (3) Straight (4) Right
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63.

64.

65.

66.

67.

68.

69.

70.

Ll eireoTLd 152—15 &0 SHFWD GTEITENITS LOTHDELD.
(1) 150.4 2) 15.04 (3) 1504 4) 1.504

Carhsaslul(heter LLL rsamens GnnuCsrammaanars Gleramr(hererg)?

X

(1) 4 (2) 6 3) 35 4 7

Liflagmreller erenL 42 Sl pmid ensyrefen erenl39.5 4. erafler jeurgatien Corss
GTEOL GTET6 ?
(1) 82500 & 2) 8250 & (3) 81500 & 4) 8150 &

R Qs sMHSSIEEG S5 HblLmse s epearm Qe Coumersamers
Careanr(Hetergl. erafler QentCouanarsafilen Glworsgs Crrb e Sertled?
(1) 1000 (2) 800 (3) 900 (4) 1500

LSl GiTeu (I eu erTeU D MIET % @ &wpy Yererd erg ?
15 45 25 10
S T] 2 35 3 3z @ 17
@ sLasar alym 400 5 el L LiupBsusSeans 48 edermgseafle (pgsHnri. bHs SL_gGer
urenguiley Cs Cousgdler mbg (Penm RGUIBHSTOD el TdHener HILOIL MBI

@beusHers r(hHsSHmuurm ?
(1) 4 2) 35 (3) 5 4) 6

LLgdled Blipadl it LEdufer Lrlienus smers.

9cm

(1) 161 sq. cm (2) 171 sq. cm (3) 173 sq. cm (4) 163 sq. cm

wSwbd 2:30 wenfld@ HOL (Werepd wHnw wallChr (WPeTEpL GHUBSHID
Camentsanssd SHTewTs.
(1) enrGsrarw (2) fGsranw (3) CriCsrewwn (4) CemGasrewTd
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71.

72.

73.

74.

75.

Instructions For Q. No. 71 - 75 : The following graph represents the activities taken
up by Grade V students in a particular school. Study the graph and answer the following

questions.
Student Activities
25
2
S 20
o
2 15
s -
"5 10
Debate Theatre Swimming Dance Painting
Activities

How many students were there in the 2 least popular activities ?

(1) 25 (2) 24 (3) 28 4) 27

How many more students chose Swimming as compared to Debate ?

(1) 6 2) 8 3) 5 4) 7

What is the total number of students in Grade V ?

(1) 80 (2) 83 (3) 85 (4) 84

The number of students who chose Painting is more than the number of students who

chose Theatre.

(1) 1 (2) 2 3) 3 4) 4

How many students chose Dance ?

(1) 16 (2) 18 3) 17 4) 19
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71.

72.

73.

74.

75.

Goliser: Gaeredl erewr 71 - 75 cuanyy : eTeu(HLd cuenLIL LD ¢(F GO L LisTefludler
V 4 1b au@ L6 Lig &@Lb oreamreursaiien CFweLmbheamer <jiq e Limg:d ClamerL_g).
UL SM& Batorasll LigS L Lmisg), Memeummb Caerells@na@l LSloetssab.

wnememEsilea GFwauTEEer

£ 25
L)
8
E 20 % -
& 15 _ .
6] . S 77

/ . /// 7
N~ 7 7 i T 7
S 10 / . - .
5 / w . %
i / 7 - 7
S 5 . _ . ﬁ
& o e %
= FCIESIEEIWNL G EowlLh % 220 [EL 511D el

GIEFWIZ0UT (G ERST

G&ophe CFwdurhamersd GameaTL 2 Hlapesete) cTeUaI6aT6] LDTERTEUTS6ET 2 GTeTeoT ?

(1) 25 (2) 24 3) 28 4) 27

sohgMrUILme @UIAOLCUTg eeaeaae WLIGMTAUTSET HEFFMOS
CaibOasbOsaTiaer ?
(1 6 (2) 8 3) 5 4 7

V o auglile L@ Corss wrameursafler ecrameniléams ?

(1) 80 (2) 83 3) 85 (4) 84

edwsmss Caibrbs(hss wramarsaie caaranfléams SHCwL Lars Carps(hss
wrenrelgefler ecranranfldamsanw el SIS BLOTGLD.

1) 1 (2) 2 3) 3 4) 4

GTEUGUGTGY LOTEUTUNT&EGT BLansenssd Caiblshsglerereart ?

(1) 16 (2) 18 3) 17 4) 19
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SECTION - ‘C’ : GENERAL KNOWLEDGE

76. By what other name is the Water Cycle known as ?
(1) Water movement cycle (2) Aircycle

(3) Hydrologic cycle (4) Tectonic cycle

77. Which bacteria is responsible for the formation of curd ?
(1) Vibrio Cholerae (2) Lactobacillus Acidophillus

(3) Streptococcus thermophillus  (4) Bacillus radicicola

78. Pick an example of water pollution.
(1) An oil spill from a large ship
(2) Animals walking along the beach
(3) Drinking water out of a plastic bottle

(4) Gasoline in a car

79. What is meant by seed coat ?
(1) Hard cover around the food stored
(2) Hard cover around the baby plant
(3) The protective outer coat of a seed

(4) Hard cover around the roots of the plant

80. Who was the Chief of Army during the Indo-Pak war, 1971 ?
(1) General PP Kumaramangalam (2) Field Marshal SHFJ Manekshaw
(3) General JN Chaudhari (4) General KS Thimayya

81. Which one of the following statements is true about fossil fuels ?
(1) They are renewable resources.
(2) They are found within the top layers of the Earth's crust.
(3) They are formed over the course of ten years.

(4) They are the remains of once-living organisms.
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Wfley - ‘C° : Qug siey

76. B spofuler LOGDTE CLwm ererer ?
() B Quss spns (2) smn &HHE
(3) eanl Crreoreds &LpHs 4) OLsLreafls &pnHsl

77. WM 2 (heurssd srrewrorent GCusleluwm erg ?
(1) NufCwir smeorm
(2) ersGLrGudleoeen & GLmosleeven
(3) WQFLLGLTaTdsen CHTGLM N6
4) Cudeeev GrigflGameor

78. B LIGLHEUSHSTET RN 2 SITEUTLD.
() Quilu stiuele Qmba eramblams Clam (Heug
(2) sLOsruiled eNewmi@GseT BLLILIG)
(3) Wemmevigd LM Iqsafldy sauanm @lqLliLg)
4) smile LweaTUhSSILBHLLD erileumyy

79. &leng 2.em eTETMTE) GTeier ?
(1) zeaweneu eply LIMHSTES LWETUHWL 2 niSwumrer 2.em
(2) Sflu sreurmsSameT LTgSTGsS LWeTU(HWD 2 mdurer 2 anm
(3) cllewgenw eplg LTESTEGL G 2 e

(4) sreursdlenr Geursemer LMHSTES LWETLHL 2 niSuner 2 enp

80. 1971 b oy arge @pdlwr-urs Curfley Qrremieus seTuSHWNsG QEbSeur wrr ?
(1) Omergéy PP @mmson (2) Sa@ wriagd SHE] wrGearégngr
(3) Gmeryer IN Gaersgif (4) Ogeryeb KS Slbentowr

81. UVemeumeuamaupiled e Lang ermlum@mlser updlw sflwrensd sapm erg ?
(1) e YgILNEs85em g1 D STIRIGGET.
(2) e Leluiler sigeroner Ge ohHddle sraliLBEng.
(3) ey UsFTaTHsefled 2 (Hourdlpg.
4) meu L o arhs@hs@ (e eumphs o uilflemisetlen eré&sb.

RAMA/TAM+ENG 21/G P.T.O.



82.

83.

84.

8S.

86.

87.

88.

89.

90.

91.

Where is the famous Meenakshi Temple located ?
(1) Ujjain (2) Varanasi (3) Madurai (4) Rameswaram

Name the holy book of the Parsis.
(1) Bible (2) Zend Avesta (3) Quran (4) Guru Granth Sahib

Which Vitamin deficiency leads to bleeding of gums, slow healing of wounds and aching
limbs ?

(1) Vitamin A (2) Vitamin B (3) Vitamin C (4) Vitamin D

Where is the United Nations Headquarters located ?
(1) Vienna (2) New York (3) Paris (4) Zurich

What is the major source of fresh water in India ?

(1) Ocean water  (2) River water (3) Pond water (4) Ground water

In which sport is the term 'Knock-Out' used ?
(1) Archery (2) Boxing (3) Golf (4) Billiards

Who invented electric bulb ?
(1) Thomas Alva Edison (2) Alexander Graham Bell
(3) Marie Curie (4) C.V.Raman

Salman Rushdie won the Booker Prize for which book ?
(1) The Satanic Verses (2) Midnight's Children
(3) Fury (4) Shalimar the Clown

Pick out the incorrect statement.

(1) Gravitation affects only part of the earth.

(2) Gravitation pulls iron.

(3) Gravitation prevents things from floating.

(4) Aeroplane do not fly in the gravitational field.

The reading above on Richter scale can cause severe damage.
(1) 7 (2) 6 3) 5 4) 4
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82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

LapCupy e & GCarelled ermi@ o ererg ?
(1) 2 shspullem (2) eumyemTTS (3) wgeny (4) prGweveurLd

uriflseflen Lefls mredler GlLwi.
(1) emuer (2) OQaer Geuavam
(3) @uren 4) ®m Simp srdl

e eneul L LOlem GeouUn(h SMrenrons Fmiseie Qrssb eulgsHe, sTwb Gogleurs
gilurge wHNLD Samissafle erflége gnuBFHDE ?
(1) emeu_L_Oer A (2) emeu_Lder B
(3) eneul_L_LAer C (4) eneul_L_ler D

opT CUTgFFL 6ThRI@E DjenbhaleTerg ?
(1)  eNweem (2) Hy, wnis (3) wumflev (4) obfls

Qidurelery Qrss BeTaT (BSHTET Y STID eTee ?

(1) s B 2) <wpm B 3) Gesa HF (4 Hessg Hi
‘Bré-ef’ 6T aUmisams eThd ellenemwmilqsd LweamU(hSsuubhSng ?
(1) &l Ngems (2) GsSaFFaTEL

(3) Carasl 4)  Geéeur e

e elets&sanasd seanr(HllySseur wrrm ?

(1) smDeL 26U 6Tiq&60T (2) oesstarLi drapmd Glue

(3) Cuorfl Sy (4) & &9 gmoer

ThE LSHFSSM@ FOLMGT (Hevlg LSSHHSHTe LssT uflagd Ceusomm ?
(1) & srerails Oeurgen (2) WiempLlev FeL Fe

(3) Ly (4) oewredlort & FHlerere

saupTend Fmpenpsd Caihos(HESaWD.

() mriy efens Leillwliler @ uGdHenw WLHWL LTSEELD.
(2) mrliy elleng @(HLDeNL! TS @LD.

(3) mrly &lens Qum@mlser WsLLmS S6elTEGLD.

(4) mriy flens Hesdle cHomerd LUnSsTg).

MeLT oeme]Gsmadle 5@ Cwed udaun@b oeTei(h oiFs urdlienu
THLUHSIHID.
(1 7 (2) 6 (3) 5 4) 4
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92. Who has won the Sushila Devi Literature Award for the novel "Things to Leave Behind" ?
(1) Kanika Mukherjee (2) Ram Suri
(3) Namita Gokhale (4) Rita Chandra

93. What does white colour in the Indian National Flag represent ?
(1) Sacrifice (2) Peace and Truth
(3) Prosperity of life (4) None of these

94. Which State / Union Territory is Nanda Devi located in ?
(1) Himachal Pradesh (2) Jammu and Kashmir
(3) Uttarakhand (4) Uttar Pradesh

95. Where did Buddha attain enlightenment ?
(1) Lumbini (2) Bodh Gaya (3) Sarnath (4) Kushinagar

96. What do tissues help in ?
(1) Faster development (2) Division of labour among cells
(3) Higher reproductive potential (4) Body strength

97. Which classical dance form is named after the village it originated from ?
(1) Kuchipudi (2) Kathakali (3) Bharatnatyam (4) Mohiniattam

98. Which sweet is deep-fried, dipped in sugar syrup, round shaped and usually orange
in colour ?

(1) Gajar kahalwa (2) Rasgulla (3) Bhakarwadi (4) Jalebi

99. Which part of the Earth supports its biodiversity ?
(1) Biosphere (2) Sanctuary
(3) [Ecosystem reserve (4) Biotic community

100. What process is involved in Cloud Seeding, which is a technique that induces rain ?
(1) Adopting an agricultural practice that depends on clouds.

(2) When water vapour in the atmosphere cools and condenses around a particle of dust or
salt.

(3) Making clouds and placing them in the sky.
(4) Scattering clouds to form seed like structures.
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92.

93.

94.

9s.

96.

97.

98.

99.

100.

“Siev (hH edeu Kenaearl” erertn Breugssnts &eadleor Ca6d Qeassw all(mg Gleustneur

wimr ?

(1) salsr Wpare (2) pmb Gl

(3) pllsr CarsGe 4) fur epdym

Grdu Caflws Camguier o drter GCeudrener Hmsdler TESHD eremes ?
(1) Swrsbd (2) ojowd WLHHL 2 aTenDd

(3) Gefliurer eumpsHens (4) QeupmieT Tgia|b Qeeame

pHsT GCoell erhg mblew/wealwuea KrGsesdled oenwbhgierersg ?

(1) @Quréser YGTCsawd (2) o sragLdi

(3) o grrETeRTL 4) o585 rGsad

L&aT @remd Cupm @b erg ?
(1) eubliefl (2) CGurg swr (3) &mmrs 4) GedipsT

Ha&aeT TEHG 2-Fadmag ?

(1) eenyeurest eueTT&s

(2) Couemavsamer CFasErs@ LSTeUsDHE

(3) flsiugurer QarlCLmES < HDISHES
4) 26 allmwss

QaupmieT ¢hg BLed g Carendiw Srmosdlen CLwflCatw oewssiiLhdEng ?
(1) G&&Hlyg (2) szs5s6E (3) urspriiguwid (4) Cuordleflwr Lo

Be@ eUnISSILL(H., &T&smIL Urdd benerdssll(h, UL eulgeleid ) TEhs

BngSled srewrlin @Qeflin erg ?

(1) sgmm &1 jeeur (2) pEGELT

(3) usfeumg 4) HCel9

HeNluller et LGS Loauiflser eurp o sreuaflading ?

(1) 2Wlflens Gamemliupliy (2) &syemwTTEUILD

(3) FHMFGSHLPD enoLL 4) =29f Fepsd

enpen 2 (Haur&Gh SHerta Fqm Csmomplu wpeapuild rpg Cawepann

LDenpeN! 2 (Heumd@GE g ?

(1) Cusmsmer jglumLuwrssds Carar®h eleugrwnd Gunbsreareug

(2) euellwamewgdHe o drer Brmell e gis6m g 2 L GefTelliLg LHmILD
553615

(3) Cuwsmsmer 2 (Hhaurésdl aurealld) aneusse

(4) Cusmsamer Sgrgsg olag CUTEm LU 2 (HEUTH@GHSHM
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101.

102.

103.

104.

10S.

106.

107.

SECTION - ‘D’ : INTELLIGENCE

If 'A' means '+ ', B means -, C means 'x' and 'D' means '+', then find the value of the following
equation.

16D64A4B4C3="7

(1) 20 (2) 15 3) 9 4 17

Which of the following option is an odd one ?
(1) PQRS (2) LMNOP (3) BCDE (4) FGHI

There are four buildings in a residential complex A, B, C and D. Each one is of a different
height. D is only shorter than B. A is shorter than D and C. Which one is the shortest of them
all ?

(1) A (2) B 3) C 4) D

Which of the following words cannot be formed out of the word 'CONDUCT' ?
(1) Duct (2) Counted (3) Count (4) Donut

Fill in the blank with one of the options given below, which is in line with the sequence in the

question.
PUE, QVF, RWG, , TYI
(1) SXH (2) TSQ (3) ABN 4) STY
Figure is embedded in one of the four alternatives. Find the alternative which contains
figure as its part.
(a) (b) (c) (d)
(1) a (2) b (3) ¢ 4) d

A bus for Delhi leaves every 30 minutes from a bus station. The station master told a passenger
that a bus has already left 10 minutes ago and the next bus will leave at
9:35 am. At what time the station master gave this information to the passenger ?

(1) 9:20 am (2) 9:10 am (3) 9:15 am (4) 9:25 am
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101.

102.

103.

104.

10s.

106.

107.

Wfley - ‘D’ : 2 enMeSHHINM

'A’ ereruigy) '+, B eretiugy -, C ereugl 'x' womid D' ereilg) '+ erertled, Yeieu(mbd
FLOGTUML g 6T LOSILIenLIS SHerrl_MiieLd.
16D64A4B4C3="

(1) 20 (2) 15 3 9 4) 17
Weeumeuaaupiled Csmmlevens qetm erg ?

(1) PQRS (2) LMNOP (3) BCDE (4) FGHI

@m GWmUY eemsd A, B, C, D ereip Bren@ sl gl misanersd OlEram(HeTerg.

geueurearmid GeucuCoum 2 wrksemers Oarear(herarg. D operg B o el
GLlaLwrargl. A opeang D womid Cy il @LleLwrergl. erafldy Qeupmier erg)
GLevLwimeng)?

(H A (2) B 3) C 4 D

Wereumeuamaupdles 'CONDUCT' eraiiensll LTSS 2 (HeuTds (WPlg TS GUTT S

ergy?
(1) Duct (2) Counted (3) Count (4) Donut

@rss Garifled eNhulL gflwrer alleoLamwus CsiblsHdse|b.
PUE, QVE, RWG, , TYI
(1) SXH 2) TSQ (3) ABN (4) STY

LIL$E6) 2 6T6T BTei @ GUlg GURISETR eeTdled a1l CHTHESILL(HeTarg).

o @M UGHUTss Cararherer LLSmss sl HluieyLd.

X

(a) (b) (c) (d)
(1) a (2) b (3) ¢ 4) d

20 Cu®pg Hloowusdd Qmba (Ladlsg geabarm 30 pBlLsShEd @0
Cumba Ypliubhdng. @@ uweallw Hoow Qus@sr aom Cumbg 10
BOLSSDG ety Lplul L grseb oHs5s Cumbg stene 9:356@ ymluHb
eretml oS, erefled @HsE ewdenw Hleaneow Quis@EGmT LweluiLd g dluCurg
Crrw ereer ?

(1) a&memew 9:20  (2) smewew 9:10 (3) smewew 9:15  (4) smevev 9:25
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108.

109.

110.

111.

112.

113.

114.

Find out the pair in which the words bear the same relationship to each other as the given one.
Austria : Vienna

(1) Egypt : Cairo (2) Germany : London

(3) USA : Orlando (4) Australia : Sydney

In a certain language 'FIGHT" is written as "TGHFI', then how will 'PAPER' be written in that
code ?

(1) RPEPA (2) REPPA (3) PEARP (4) PAEPR

Which sequence of mathematical symbols can replace * in the given equation to balance the
equation ?

TFTE2F]T =12
(1) x+ - 2) +-x 3) ++ - 4) x-x

37 boys are standing in a row. Aakash is 14t from the right end. If he is shifted six places to
the left, what is his position from the left end ?

(1) 20 2) 18 3) 11 4) 14

Which of the following diagrams best depicts the relationship between Table, Chair,
Furniture ?

(@) & (a9

(1) A (2) B 3) C 4) D

Choose the correct alternative.
Smoke : Pollution :: War : _?

(1) Peace (2) Victory (3) Treaty (4) Destruction

If GRAIN is related to WAREHOUSE, then Water is related to .
(1) Estuary (2) River (3) Canal (4) Dam
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108.

109.

110.

111.

112.

113.

114.

Carhssiul’(Herer Comgsaier @Cr orgsb OatarL earigams Cmmg.enuis
SETL_HlLE|LD.

S evgiflwir : eSluiesmesm

(1) erdllg : sy (2) Oerweil : eeTL6ir

(3) Cwflgsr : itoarGLr (4) < evSHCrailwm : el _efl

em PN Cwrduie FIGHT' ererugl 'TGHFI' eren er(psliLl(HeTerg), eresiley
9Bp5S GO g6 PAPER' eraiiigy) ereleumm) (sl g (Ha@Wn ?
(1) RPEPA (2) REPPA (3) PEARP (4) PAEPR

Caer@sslul (herer FweatUrl el Foer CFlwW QBHss sasdH@ aflamsuia *
GHULenEL udors amsl Lwau(Bss CeuamHd ?

THETE2*]1 =12

(1) x =+ - 2) +-x 3) =+ - 4) x - x

37 Smeutser euflengwing HhSnriser. cuwg LSS0 Qmhgl 146516 o sT6

Bn&lori. et QL_gi LssD o m QL miser papdnrt erafld, QL g LsssHd Qmba)
SleUHenL Hleney eTeimen?

(1) 20 (2) 18 (3) 11 4) 14

Memeupd UL misetey CLLG6T, prhsmed), GoensseErseE Qe Cw o drer sflwmer
Carrfenud @GOG 6rg?

Q) @ & @2

(H A (2) B 3) C 4) D

gflwrer wrpeons CsibolsH &S L.

Yens : wr& :: Gurd @ _2

(1) s (2) Geumml (3) 2Lamgsms (4) ey

sraflwb ereug HLm@Ler Ogrrysreamrigmbsre, BT _ o LG
CTLyenLwig).

(1) sPwsLbd (2) BS 3) smGUTUl (4) jenemr
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115.

116.

117.

118.

119.

120.

Which character when placed at the sign of interrogation (?) shall complete the given
pattern ?

CX

s
N

(1) DW (2) DK (3) DE (4) DL

What comes in the place of question mark (?) in the following number series?
4, 12, 36, 108, 324, ?
(1) 520 (2) 475 (3) 680 4) 972

Find the missing figures from the given alternatives.
15 39 45 49

YYY

(1) 28 (2) 21 (3) 11 (4) 38

Surbhi is facing East. She turns 90° in the clockwise direction and moved 2 kilometers, then
she turns 145° in clockwise direction and moved 1 kilometer. Which direction is she facing

(1) North (2) East (3) North-West (4) South-East

Two positions of dice are shown below. Identify the number at the bottom when the top is
|5V ?

(1) 3 (2) 2 (3) 6 4) 4

Replace the question mark (?) in the given series.
mm, OO0, qq, SS, ?__
(1) w (2) Ss (3) UU 4) rr
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115.

116.

117.

118.

119.

120.

Carhsasliul (Herer algeausdle Casetells GM&GU(?) USlors erearem 6r(SI
G bGumd ?

an
NP

CX

(1) DW (2) DK (3) DE (4) DL

Wemeum erawor Camifley Caetals@m (?) o dtemr QL S5 cU@HLD eTewT 6Tg ?
4, 12, 36, 108, 324, ?
(1) 520 2) 475 (3) 680 4) 972

@aarr@éaaal;lul'_@)mm@@gﬂeb @Eﬂ@l_n'_l_ CTERUTENGNTS  SHEUTL_HIULIGLD.
15 39 45 49

YYY

(1) 28 (2) 21 (3) 11 4) 38

sy SlpsE Cpradl ummsseurm o erermr. eur 90° sigamy Sanguile SlmwoLa 2
HCeomBLL i pardpr, Nery 145° sig&my Hevguller S 1 HCeombLL i pardpr.
crafler sHGLTE jeueT 6hg SHangenw Corsdl QmsSprm ?

(1) euLs® (2) Spse (3) a-Copg @) Csar-Spss

@ useLuler @ream( Hleneser srL Ul (Hererg. G Lss 'S GlETeTiq (HHSTe
DB DG LILIGHSHD QHSGD TS SHewTLHluieyd ?

(1 3 (2) 2 (3) 6 4) 4

Carhssiiu’_(Herer Gariifled (?) @l udeors @LbOumeug erg?
mm, OO, qq, SS, ?__
(1) wu (2) Ss 3) UU (4) rr
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121. Which figure among the four alternatives a, b, ¢, d would replace the question mark in figure
|4V ?

1 2 3 4
Ll | (Ll Ll | L&
(a) (b) (c) (d)
(1) a (2) b (3) ¢ 4) d

122. Choose the correct alternative from the options for the Assertion (A) and Reason (R)
given below.

Assertion (A) : In India, people elect their own representatives.
Reason (R) : India is a democratic country.

(1) °A’1is true but ‘R’ is false (2) ‘A’ 1s false but ‘R’ is true
(3) Both ‘A’ and ‘R’ are true (4) Both ‘A’ and ‘R’ are false

123. If in a certain language 'PARROT!" is written as '123345' and 'SOAT" is written as '6425', then
how would 'ROAST" be written in that code ?
(1) 34625 (2) 32564 (3) 32456 (4) 34265

124. R is K's sister. P is K's brother. Q is T's father who is P's brother. H is K's mother.
At least how many sons do Q and H have ?
(1) 3 (2) 2 3) 1 4) 4

125. If 35 out of 70 people are diabetic, which figure will depict the diabetic group ?

(b) (d)

(1) a (2) b (3) ¢ 4) d

-00o0-
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121.

122.

123.

124.

125.

Car@ssiul L a, b, ¢, d eremy Bren@ ULBG6l0 '4' cugrs QL b6umeug erg ?

1 2 3 4
@ | (=] | (3| (=
(a) (b) (c) (d)
(I) a (2) b (3) c 4) d

Carhssiiul L eursdwd (A) wpmw Fapn (R) & sflwurst Qurmbgieuanss
Cahos[HdsHaL.

caursEwbd (A) : @pdHuneller, waseam rdbldasmer wHECar GCarbsHSSHDTTSET.
&pm (R) : @hIur e pamnus brk.

() ‘A afl g eme ‘R’ geum)

(2) ‘A seum o eme ‘R’ il

(3) ‘A opmid R’ o dlu Qrevr@Hid &l

4) ‘A wpmid R’ o du Qrer@Od seum

@@ GOUALL Gumpluiles PARROT ereiig) '123345' erem er(psliLil_(heterg), 'SOAT'
creiiLigy) '6425" erew er(psLLIL(eTergy, erafley oibss GMuiliged 'ROAST' ereigy

GTEUGUMM) GT(LPSLILIL Ig (H&SGSWD ?
(1) 34625 (2) 32564 (3) 32456 (4) 34265

R ereimueui K@ eGansil. P eremueu K@ eGansrm. Q eramuei TH@ sheng LoHMILD
Ps@ #Cargrm. H eremuealm Ké@ smll. erafle Q wpmid H @GophsUl b aTésanans
DT GLPHNSHMETS ETeUTIq (HLILITTSET ?

(1) 3 (2) 2 (3) 1 4) 4

70 Guiiled 35 CUmSE srsasamr Crrwreiser erefle, Frdsany GCrmumailEamerd @&mlHE@LD
UL ergy?

@  ® © @
(1) a @ b 3) ¢ @) d

-00o0-
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10.
11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

ﬁ%rajss@'r Nemggnenet SHmé@Ld @urrgj Wifley "A" &Qed Braser oy Bl sniiged erpdw Qurd QmsHpst ey
urprEisear. Qaomatualds o msd QerellflCar ma@ oL Gar Gsfluliubsseyb.

At the appointed time, when you are instructed to open the booklet by the Invigilator, open it and check
whether it contains Section “A” in the language opted by you in your Application Form and indicated on
your Admit Card. If not, bring it to the notice of the Invigilator immediately.

Coielled g Gadrellenws Gompl Quwiliindle / B wrafliudle gCsaubd Ggefledeany Qmponed. iHer
e udiy @omg Gfley Cadelsmens seily) GQniSurarstas &msULGHLD.

In case of any ambiguity in translation/construction of a question, in the version of the specified
language/s, its English version (except for the language section questions) shall be treated as final.
Memssrer amaGulb 36 Lssmsmard QaTaLgl. swe| Celg efunisg elamsgrer amaCGW® (Lp(HenLOWTETS)
LHNLD DnaTsg Lssmsmear b Oarar@Hererg eratueng 2 nidlll UHSS6D.

The question paper booklet is of 36 pages. Please check and ensure that the Question Paper Booklet is
complete and contains all the pages.

OMR &engsreiler 2 drar omarsg CoeaellsErdEl LHoealssab.

Answer all questions in the OMR Answer Sheet only.

OMR &evgsrer Qs eNamssrear amsGuiige o derg. edamssrear osCWl L sHns@EbLL 2 BsEhsSE
oMeymssiiu@uCurg, OMR daLgsrama ahss oided 2der efeurmamer ho oOog S@HLUY WD
Guermmeured UHGWL seuenons HirliLieyd.

The OMR Answer Sheet is inside this Question Paper Booklet. When you are directed to open the Question
Paper ]1300k1et, take out the OMR Answer Sheet and fill in the particulars carefully with Blue/Black ball point
pen only.

paQarm GCadarels@b @Cr @ el lgms LLHL Hrliyksd. Bfhsd geamée GCopulL el L mismen
Birldlerme o BiseT USl®d SeupTs SMHFLILHLD.

Darken only one circle as your answer for each question. If you darken more than one circle for the same
question, your answer will be treated as invalid.

sauprer USas@ wIHUCUET @G@nssliuL rlLrg.

There is no negative marking for a wrong answer.

OMR dev_ggrefler Csemeuwppencusemer erps Couatmmb HODG HMS Wigsg Soag CrslLdsSs
pwhss GCeuamrLmbd. Brsdr eueury Qewistd, 2 msd el ggrer wHIIE Qe g

Do not make unnecessary marks on the OMR answer sheet or fold or attempt to deface it. If you do so,
your answer sheet will not be evaluated.

QB LsssSD elleurhamer er(PIHIUSHGL Ldasmern er(paleush@Gb Ha/smly ew Qaremr . Lime Limuileamr
Guenmeneul wLHL Lwer LBHSse|b. uaflenels Lwer LBHSs Celearrmb.

Use Blue/Black ball point pen only for writing particulars on this page and for writing answers. Do not use
pencil.

OMR sgrafler Qevenoed, efeammgsmer emaCul iy Qns Crréssdnsrs cupmasliulL GLsdad i Ceumeenw
Qe Geuarr(HiLbd.

Rough work is to be done in the space provided for this purpose in the Question Paper Booklet only and
not on the OMR sheet.

ufilens Wubsgbd @peow (G QaualCupaspe weay OMR caLgsramer @QerellsdCol Liflb
@ULML&S56]LD.

On completion of the test, hand over the OMR Answer Sheet to the Invigilator before leaving the Room/
Hall.

Qs Aamssrnear masGuL e 2 RsEbL6 aThHiSHEF Fh0 2 MEEHSHE @IS 2 ar.

You are allowed to take away this Question Paper Booklet with you.

@b msCuiige GHWGH G <G OMR afan_gsrefler el L ol @bs elamssmer ameaCuiqe
2 dreransll CurewCes Grluamg o nFlGslis. wprarur® gpulLred ebamssrer amsCu@® wHnid elaLdsrer
QramenLd LIHNEUSHETSE 2 L arquns elegwsns QearellfiCal L (pésE Osflefssab.

The CODE for this Booklet is (. Make sure that the CODE printed on the OMR Answer Sheet is the same
as that on this Question Paper Booklet. In case of discrepancy, report the matter immediately to the
Invigilator for replacement of both the Question Paper Booklet and the Answer Sheet.

o migar Crmed eramenenr aflanmssrear emasGuiigd / OMR Qe gsrafler @Al L QL sdéd vl HGW er(psayLb.
Do not write your Roll No. anywhere else except in the specified space in the Question Paper
Booklet / OMR Answer Sheet.

OMR e ggrelled ey Hmsssamswynd CQeiw Qeudrenar Sreugeamss Lwer LBSS Ceuammb.

Do not use white fluid for carrying out any correction on the OMR Answer Sheet.

RAMA/TAM+ENG 36/G




